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ﬁ;‘; TREOBRBOEILNORES ITWEOHBEIENDKRES TREOBEOESLNOKRES THEQHBEEILADKRES
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(m) (m) (kN/m) BERfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/mi)
1 100kN/mi%#82.% -l -~ - —-|3mZEBZE| - ~ = = —| 100kN/mM%#8% % = -~ - -|3m%EBZD o ~ = = =
zhst 1.00/0.00 ~ 7.76 99.57| £ st 1000 ~ 7.76] 1.96 10.27 zhnLst 1.00] 5.00 ~ 12.00 99.57| huist | 5.00 ~ 12.00| 1.96 10.27
2 100kN/mM%E#8 % % 1.00{0.00 ~ 0.10 101.48| 3m%E#E %25 ol ~ = - —| 100kN/m%i#8 x5 1.00| 11.94 ~ 12.31 101.48| 3m%{BZ % = kad - - =
zhusn 1.00/0.10 ~ 7.89 100.00] Zhbllst |0.00 ~ 7.89] 1.97 10.32 ThLst 1.00] 5.00 ~ 11.94 100.00] Zhuist | 5.00 ~ 1231 1.97 10.32
3 100kN/m%#8 2% -l -~ = —-|3mZEBZD| - ~ = = —| 100kN/m%#8% % = -~ = ~-|3m%EiBAD -~ = = =
Fh st 1.00{0.00 ~ 7.76 99.62| #nList |0.00 ~ 7.76] 1.93 10.13 Fh st 1.00] 5.00 ~ 1257 99.62| =4t | 500 ~ 1257 1.93 10.13
4 100kN/mi%#82 % 1.00/ 0.00 ~ 0.92 113.78| 3mE#ZB| - ~ = = —| 100kN/M%#8% % 1.00| 12.64 ~ 17.57 113.78| 3mZz#BA 5 o ~ = = =
Zzhilst 1.00/0.92 ~ 8.70 100.00] Z=hilst [0.00 ~ 8.70] 2.10 11.01 zhst 1.00|] 5.00 ~ 12.64 100.00] #hld4t | 500 ~ 17.57| 2.10 11.01
5 100kN/m%#8 % % 1.00{0.00 ~ 0.46 106.82| 3m%#EZ 5D -~ = = —| 100kN/m%i#8x % 1.00| 12.60 ~ 14.70 106.82| 3mZE %5 ad ~ = - =
zhusn 1.00/0.46 ~ 8.25 100.00] Zhilst [0.00 ~ 8.25| 1.93 10.14 zhst 1.00|] 5.00 ~ 12.60 100.00] Zhuist | 5.00 ~ 14.70| 1.93 10.14
6 100kN/mM##BZ % 1.00{0.00 ~ 0.14 102.09| 3ImZ#BZ 5 =~ = = —| 100kN/mMi%#8% % 1.00| 10.60 ~ 10.97 102.09| 3m%EBZ2 5 ol ~ - - =
ZFh st 1.00{0.14 ~ 7.93 100.00| #hi4t [0.00 ~ 7.93] 2.25 11.79 Fhn st 1.00] 5.00 ~ 10.60 100.00] #nldst | 500 ~ 10.97| 2.25 11.79
7 100kN/m%#8 2% -l -~ - -|3mZEBZS| - ~ = = —| 100kN/M%Z#B% % = -~ - -|3m%EBZ5 o ~ = = =
zhilst 1.00/ 0.00 ~ 5.68 70.98| Thust [0.00 ~ 568 1.80 9.46 Thst 1.00] 5.00 ~ 6.37 70.98| Thus | 500 ~ 6.37| 1.80 9.46
100kN/mi%#8% % ~ ImEEZ D ~ 100kN/mM#%#8 % % ~ ImEBZD ~
zhlst ~ zhs ~ zhst ~ zhils ~
100kN/m%#2 2% ~ 3mEHEZS ~ 100kN/mM%#8 2% ~ ImEBALD ~
Zzh s ~ Zh st ~ zh st ~ Zh st ~
100kN/ Mm% 2% ~ ImEERD ~ 100kN/ Mm% 2% ~ 3ImEBRD ~
ZhLsh ~ Zhlsh ~ ZhLLsh ~ Zh st ~
100kN/mi%#8 2% ~ ImEEZD ~ 100kN/mM##8 % % ~ ImEEBZD ~
zhlst ~ ThLs ~ st ~ zhilst ~
100kN/ Mm% B2 % ~ ImEHBA D ~ 100kN/mM%BZ 5 ~ ImEBRD ~
Zhsn ~ Zhst ~ Zhst ~ Zh st ~
100kN/m%#8 2% ~ ImEHERD ~ 100kN/m% 82 % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ ZHLLS ~ Zh Lot ~
100kN/mi%#82.% ~ ImEREZRD ~ 100kN/mM#E#BZ % ~ ImEEZD ~
Zh LSt ~ Zh st ~ ZhLIst ~ Zh st ~
100kN/ Mm%z 5% ~ 3mEHBA D ~ 100kN/m%EBZ 5 ~ 3ImEBZ D ~
zhist ~ Zhs ~ st ~ ZThilst ~




